Warm Up
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1. Which sequence below is arithmetic?
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3. Which represents a geometric sequence?

4. Evaluate: Y (=0.3)"
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5. If x=2. x+4. 5x+2 are three consecutive terms in a geometric sequence, determine the
numerical value(s) of the common ratio(s).
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6. Ina geometric sequence. f, =108 and 7, = 243. Determine a possible first term.
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Sam gave his nephew, Norman, $1 on his 1st birthday, $2 on his 2nd birthday, $4 on his
3rd birthday, and so on. That is, on each subsequent birthday, Sam gave Norman double

the previous year’s amount. ' "'a"'l" ++ B-’- oo e

7. How much money did Sam give Norman on his 15th birthday?
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8.1n total, how much money did Sam give Norman up to and including his 21st birthday?
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Review Questions..
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